Math 22  Review   (15.3-16.3)

1.
Let R be the planar region bounded by 
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. Evaluate 
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2.
Let R be the planar region outside of 
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 and inside of 
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. Find the volume of the solid above R and below the graph of 
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3.
Evaluate:
(a)

[image: image6.wmf]2

42

0/2

x

y

edxdy

òò



(b)
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4.
Let 
[image: image8.wmf]R

 be the planar region bounded by 
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, 
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. Suppose that the density at any point on 
[image: image13.wmf]R

 equals the distance from that point to the y-axis. 

a.
Find the mass of 
[image: image14.wmf]R

.

b.
Find the center of mass.

c.
SET up the integral that could be used to find the moment of inertia of 
[image: image15.wmf]R

 about the y-axis.

5.
Let 
[image: image16.wmf]R

 be the solid region bounded by 
[image: image17.wmf]0,0,1,&225

xyzxyz

===++=

. Evaluate 
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6.
Let 
[image: image19.wmf]R

 be the solid region bounded below 
[image: image20.wmf]222
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 and above 
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. SET UP an iterated integral (or integrals) for 
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 in


(a)
cylindrical coordinates;

(b)
spherical coordinates. 

7.
R is the region bounded by the ellipse 
[image: image23.wmf]22
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.  Let 
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a.
Sketch the corresponding region in the uv-plane for this substitution.  


b.
Use the substitution to rewrite the integral 
[image: image26.wmf]2
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8.
Sketch the vector field 
[image: image27.wmf](,)()()
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9.
Suppose that the base of a fence is the portion of the cardioid 
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 in the first quadrant and the height of .the fence at 
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 is 
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.  SET UP an integral that could be used to find the area of the fence.

10.
Let C be the graph of 
[image: image31.wmf]()cos()sin(),,01/2
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. Evaluate the line integral 
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11.
Determine if the following vector fields are conservative.


a.

[image: image33.wmf](,)(23)(348)

xyxyxy

=-+-+-

Fij



b.
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12.
Let C be the straight path from 
[image: image35.wmf](1,1,0)

 to 
[image: image36.wmf](1,2,1)
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. Find the work done by 
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(,)(ln2)(3/)

xyyxyxyxy

=+++

Fij

 along C.
13.
Show that the line integral 
[image: image38.wmf](1)
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 is independent of path.






























1

_1288519937.unknown

_1288519965.unknown

_1288520010.unknown

_1288520906.unknown

_1288521418.unknown

_1288521783.unknown

_1288522233.unknown

_1288521718.unknown

_1288521025.unknown

_1288520016.unknown

_1288520018.unknown

_1288520020.unknown

_1288520012.unknown

_1288519978.unknown

_1288519982.unknown

_1288520008.unknown

_1288519980.unknown

_1288519969.unknown

_1288519975.unknown

_1288519967.unknown

_1288519946.unknown

_1288519950.unknown

_1288519963.unknown

_1288519948.unknown

_1288519941.unknown

_1288519944.unknown

_1288519939.unknown

_1288519918.unknown

_1288519922.unknown

_1288519925.unknown

_1288519920.unknown

_1288519914.unknown

_1288519916.unknown

_1288075069.unknown

_1288075209.unknown

_1288519912.unknown

_1288075088.unknown

_1288074937.unknown

